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E–107 

M. Com. (Second Semester) (Main/ATKT) 

EXAMINATION, May-June, 2021 

Paper Seventh 

SPECIALIZED ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- o”kZ es chek nkos dh Hkqxrku dh xbZ jkf’k ` 1]52]900 gSA o”kZ ds 

izkjEHk ,oa vUr esa vnŸk chek nkos Øe’k% ` 6]200 ,oa ` 4]300 FksA 
vkxe [kkrk esa vUrfjr dh tkus okyh jkf’k gksxh % 

¼v½ ` 1]42]400 
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¼c½ ` 1]51]000 
¼l½ ` 1]58]800 
¼n½ mi;qZDr esa ls dksbZ ugha 

Claim paid during the year is ` 1,52,900. The claim 
outstanding at the beginning and end were ` 6,200 and  
` 4,300 respectively. The amount to be transferred to 
Revenue Account will be :  

(a) `  1,42,400 

(b) ` 1,51,000 

(c) ` 1,58,800 

(d) None of the above 

2- chek vf/kfu;e lu~ 
------------------

 esa ikfjr fd;k x;kA 

¼v½ 1938 

¼c½ 1948 

¼l½ 1958 

¼n½ mi;qZDr esa ls dksbZ ugha 

Insurance Act was passed in the year ............. . 

(a) 1938 

(b) 1948 

(c) 1958 

(d) None of the above 

3- chek fu;ked ,oa fodkl izkf/kdj.k vf/kfu;e lu~ 
----------------

 esa ikfjr 

fd;k x;kA 

¼v½ 1978 

¼c½ 1988 

¼l½ 1999 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Insurance Regulatory and Development Authority Act was 
passed in the year ............. . 

(a) 1978 

(b) 1988 

(c) 1999 

(d) None of the above 

4- lkekU; chek esa 
------------------

 izdkj ds izhfe;e ,oa nkos gksrs gSaA 

¼v½ ,d  

¼c½ nks 

¼l½ rhu 

¼n½ mi;qZDr esa ls dksbZ ugha 

There are ............. types of premium and claims in General 
Insurance. 

(a) One 

(b) Two 

(c) Three 

(d) None of the above 

5- lkekU; chek dEiuh ds QkWeZ B-BL dh dqy 
---------------------

 vuqlwfp;k¡ gksrh 

gSaA 

¼v½ nl 

¼c½ X;kjg 

¼l½ rsjg 

¼n½ mi;qZDr esa ls dksbZ ugha 
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There are total ................ schedules of Form B-BL of 
General Insurance Company. 

(a) Ten 

(b) Eleven 

(c) Thirteen 

(d) None of the above 

6- cSafdax dEiuh ds Form A vFkkZr~ fpës dh dqy 
------------------

 vuqlwph gksrh 

gSa ¼QqVuksV vuqlwph dks NksM+dj½A 

¼v½ ckjg 

¼c½ rsjg 

¼l½ pkSng 

¼n½ mi;qZDr esa ls dksbZ ugha 

There are total ............... schedules of Form A i. e. Balance 
sheet of banking company (Excluding schedules of Foot- 
notes). 

(a) Tweleve 

(b) Thirteen 

(c) Forteen 

(d) None of the above 

7- cSafdax dEiuh ds foŸkh; fooj.k ds QqVuksV dh vuqlwfp;ksa dk Øekad 

gS % 

¼v½ 15 ,oa 16 

¼c½ 16 ,oa 17 

¼l½ 17 ,oa 18 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Schedule number of footnote of Financial Sstatement  
are : 

(a) 15 and 16 

(b) 16 and 17 

(c) 17 and 18 

(d) None of the above 

8- foŸkh; fooj.k dh vuqlwph 9 esa cSafdax dEiuh ds vfxze dks 
---------------

 

Hkkxksa esa foHkDr fd;k x;k gSA 

¼v½ ABC 

¼c½ ABCD 

¼l½ ABCDE 

¼n½ mi;qZDr esa ls dksbZ ugha 

Advances of Banking company is divided in .......... parts in 
schedule number 9 of Financial Statement. 

(a) ABC 

(b) ABCD 

(c) ABCDE 

(d) None of the above 

9- cSafdax dEiuh ds Form B vFkkZr~ ykHk&gkfu ys[ks dh dqy 
---------------

 

vuqlwfp;k¡ gksrh gSa ¼QqVuksV dh vuqlwfp;ksa dks ‘kkfey djrs gq,½A 

¼v½ pkj 

¼c½ ik¡p 

¼l½ N% 

¼n½ mi;qZDr esa ls dksbZ ugha 
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There are ................ schedules of Form B i. e. Profit & Loss 
Account of Banking Company (including schedules of Foot- 
note). 

(a) Four 

(b) Five 

(c) Six 

(d) None of the above 

10- f}&ys[kk i)fr 
--------------------

 esa vkjEHk gqbZ FkhA 

¼v½ Hkkjr 

¼c½ Ýkal 

¼l½ baXyS.M 

¼n½ mi;qZDr esa ls dksbZ ugha 

Double Account System was introduced in ............ . 

(a) India 

(b) France 

(c) England 

(d) None of the above 

11- f}&ys[kk i)fr esa ykHk&gkfu fofu;kstu ys[kk ds LFkku ij 
---------------

 

ys[kk cuk;k tkrk gSA 

¼v½ vkxe 

¼c½ ‘kq) vkxe 

¼l½ iw¡th 

¼n½ mi;qZDr esa ls dksbZ ugha 
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.......... account is prepared in place of Profit & Loss 
Appropriation Account in Double Account System. 

(a) Revenue 

(b) Net Revenue 

(c) Capital 

(d) None of the above 

12- f}&ys[kk i)fr esa _.ki= 
----------------

 esa n’kkZ;k tkrk gSA 

¼v½ vkxe ys[kk 

¼c½ ‘kq)&vkxe ys[kk 

¼l½ iw¡th ys[kk 

¼n½ mi;qZDr esa ls dksbZ ugha 

In Double Account System. Debenture is recorded in .......... . 

(a) Revenue A/c 

(b) Net Revenue A/c 

(c) Capital A/c 

(d) None of the above 

13- U;wure fdjk;k jkf’k ds vf/kdkj ‘kqYd jkf’k ij vkf/kD; dks 
----------------

 

dgk tkrk gSA 

¼v½ vkf/kD; 

¼c½ ykHk 

¼l½ gkfu 

¼n½ y?kqdk;Z 
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Excess of amount of minimum rent over amount of royalty is 
known as ............ . 

(a) Surplus 

(b) Profit 

(c) Loss 

(d) Shortworking 

14- U;wure fdjk;k dks 
----------------

 uke ls Hkh tkuk tkrk gSA 

¼v½ de fdjk;k 

¼c½ vf/kd fdjk;k 

¼l½ fdjk;k 

¼n½ er̀ HkkVd ;k fLFkj fdjk;k 

Minimum rent is also known as ........... . 

(a) Less rent 

(b) Excess rent 

(c) Rent 

(d) Fixed or dead rent 

15- iêk/kkjh dh [kkrkcgh esa v’kks/kuh; y?kqdk;Z dh jkf’k dks 
---------------- 

ys[kk 

esa gLrkarfjr fd;k tkrk gSA 

¼v½ y?kq dk;Z 

¼c½ v’kks/kuh; y?kqdk;Z 

¼l½ iêknkrk 

¼n½ ykHk&gkfu 
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In the books of lessee the amount of irrecoupable amount of 
shortworking is transferred to .............. Account. 

(a) Shortworking 

(b) Irrecoupable Shortworking 

(c) Landlord 

(d) Profit and Loss 

16- Hkkjrh; ys[kk ekud Øekad 
----------------

 fofu;ksx ys[kk ls lEcfU/kr gSA 

¼v½ 11 

¼c½ 12 

¼l½ 13 

¼n½ mi;qZDr esa ls dksbZ ugha 

Indian Accounting Standard No. .............. is related to 
Investment Account. 

(a) 11 

(b) 12 

(c) 13 

(d) None of the above 

17- 
-----------------

 izfrHkwfr;ksa ds izi= ij vafdr gksrk gSA 

¼v½ cktkj ewY; 

¼c½ ‘kq) ewY; 

¼l½ mfpr ewY; 

¼n½ Qsl ewY; ¼le ewY;½ 

............... is the price mentioned on the paper of securities. 
(a) Market value 
(b) Net value 
(c) Fair value 
(d) Face value 
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18- C;kt lfgr izfrHkwfr;ksa ds okLrfod Ø; o foØ; ewY; dh x.kuk 

djrs le; foØsrk ds C;kt dh jkf’k dks 
----------------

 tkrk gSA 

¼v½ tksM+k 

¼c½ ?kVk;k 

¼l½ dqN ugha fd;k 

¼n½ mi;qZDr esa ls dksbZ ugha 

While calculating actual purchase and sale price of securities 
the seller’s amount of interest is ............. .  

(a) Added 

(b) Deducted 

(c) Neigther added nor deducted  

(d) None of the above 

19- mikftZr C;kt dh izkjfEHkd ‘ks”k jkf’k dks 
------------------

 esa gLrkarfjr fd;k 

tkrk gSA 

¼v½ C;kt [kkrk ds fodyu i{k esa 

¼c½ C;kt [kkrk ds lekdyu i{k esa 

¼l½ ykHk o gkfu [kkrk esa 

¼n½ mi;qZDr esa ls dksbZ ugha 

The opening balance of amount of accrued interest is 
transferred to ............. . 

(a) Debit side of Interest A/c 

(b) Credit side of Interest A/c 

(c) Profit and Loss A/c 

(d) None of the above 
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20- ;fn fofu;ksx py lEifŸk ds :i esa gS] rks o”kZ ds vUr esa mldk 

ewY;kadu 
------------------

 ij fd;k tkrk gSA 

¼v½ ykxr ewY; ;k cktkj ewY; tks vf/kd gks 

¼c½ cktkj ewY; 

¼l½ ykxr ewY; 

¼n½ ykxr o cktkj ewY; tks de gks 

If investment is treated as a current asset, then it is valued at 
the end of year ............ . 

(a) Cost price or market price whichever is more 

(b) Market price 

(c) Cost price 

(d) Cost price or market price whichever is less 

 [k.M&c izR;sd 2 

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % bl [k.M ls fdUgha vkB iz’uksa ds mŸkj vf/kdre 25 ‘kCnksa esa 

fyf[k,A 

 Write answer of any eight questions from this Section in 
maximum 25 words. 

1- chek ds izdkj fyf[k,A 

Write the kinds of insurance. 

2- iquchZek D;k gS \ 

What is Reinsurance ? 
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3- ,d cSafdax dEiuh ds [kkrs esa vizkIr _.k dgk¡ o dSls fn[kk;k tkrk 

gS \ 

How and where bad debts is shown in the accounts of a 

Banking Company ?  

4- xSj&cSafdax lEifŸk;ksa dks Li”V dhft,A 

Explain the non-banking assets. 

5- va’kksa ds fuxZeu ij izC;kft dk f}&ys[kk i)fr esa fdl izdkj mYys[k 

djsaxs \ 

How will you treat the premium on issue of shares in the 

Double Account System ? 

6- y?kq dk;Z ,oa vf/kdkj&’kqYd lap; esa vUrj dhft,A 

Distinguish between Shortworkings and Royalty Reserve. 

7- iêk ,oa mi&iêk esa vUrj dhft,A 

Distinguish between Lease and Sub-lease. 

8- izfrHkwfr;k¡ fdrus izdkj dh gksrh gSa \ le>kb,A 

What are the types of securities ? Explain. 

9- fofu;ksx ds okLrfod Ø; ewY; ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on Actual Purchase Price of Investment. 

10- fofu;ksxksa ij mikftZr C;kt dks le>kb,A 

Explain accrued interest on Investment. 
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 [k.M&l  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fuEufyf[kr nl iz’uksa esa ls fdUgha vkB iz’uksa ds mŸkj nhft,A 

xf.krh; izd`fr ds iz’uksa dks NksM+dj vU; iz’uksa ds mŸkj yxHkx 

75 ‘kCnksa esa nhft,A izR;sd iz’u ds 3 vad gSA 

 Attempt any eight questions from the following ten 
questions. Except numerical nature of question, each 
question is to be answered in about 75 words. Each 
question carries 3 marks. 

1- fuEufyf[kr vk¡dM+ksa ls vki ‘kq) izhfe;e dh jkf’k Kkr dhft, % 

 ` 

o”kZ ds nkSjku izkIr izhfe;e 17]86]000

o”kZ ds izkjEHk esa vnŸk izhfe;e 1,22,000

o”kZ ds vUr esa vnŸk izhfe;e  1,86,000

izkIr iquchZek izhfe;e 2,45,000

ns; iquchZek izhfe;e 1,30,000

From the following figures, you are required to calculate the 
net amount of premium : 

 ` 

Premium received during the year 17]86]000
Outstanding premium at the beginning of the 
year  1,22,000
Outstanding premium at the end of the year 1,86,000
Re-insurance premium received 2,45,000
Re-insurance premium payable 1,30,000
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 2- fuEufyf[kr vk¡dM+ksa ls vkxe ys[kk esa iznf’kZr fd;s tkus okys ‘kq) 

nkos dh jkf’k Kkr dhft, % 

          ` 

o”kZ esa fd;s x;s nkos 10,80,000

nkos lEcU/kh dkuwuh O;; 23,000

nkos lEcU/kh esfMdy O;; 17,000

losZ{k.k O;; 32,000

iquchZek nkos izkIr 68,000

o”kZ ds izkjEHk esa vnŸk nkos 1,00,000

o”kZ ds vUr esa vnŸk nkos 1,24,000

From the following figures, you are requied to calculate the 
net amount of claims to be shown in the Revenue Account : 

   ` 

Claim paid during the year 10,80,000

Legal Expenses  of claims 23,000

Medical Expenses of claims 17,000

Survey Expenses 32,000

Re-insurance claims received 68,000

Outstanding claims at the beginning of the year 1,00,000

Outstanding claims at the end of the year  1,24,000

3- uxn lk[k dks le>kb,A 

Explain cash credit. 

4- ;kpuk ,oa vYikof/k lwpuk ds _.k dks le>kb,A 

Explain money at call and short notice. 
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5- f}ys[kk i)fr ds vUrxZr iw¡th ys[kk dk izk:i nhft,A 

Give format of capital account under double account system. 

6- f}ys[kk i)fr ds vUrxZr vkxe ys[kk dk izk:i nhft,A 

Give format of Revenue Account under Double Account 

System. 

7- fuEufyf[kr lwpuk ls ,e- ,.M dEiuh dh [kkrkcgh esa y?kqdk;Z [kkrk 

rS;kj dhft, % 

            ` 

izFke o”kZ dh y?kqdk;Z dh jkf’k 5,000

f}rh; o”kZ dh y?kqdk;Z dh jkf’k 4,000

r`rh; o”kZ dh y?kqdk;Z dh olwyh 2,000

prqFkZ o”kZ dh y?kqdk;Z dh olwyh 2,500

prqFkZ o”kZ esa v’kks/kuh; y?kqdk;Z 500

From the following information, prepare Shortworking 

Account in the books of M. Co. : 

            ` 

Shortworking of first year 5,000

Shortworking of  second year 4,000

Shortworking of  recouped in third year 2,000

Shortworking of  recouped in fourth year 2,500

Shortworking of unrecouped in fourth year 500
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8- ckcwyky }kjk ` 4]000 okf”kZd U;wure fdjk;s ij ,d [kku iês ij yh 

x;hA vf/kdkj ‘kqYd ` 2-00 izfr Vu gS rFkk y?kqdk;Z dh jkf’k dk 

olwyh dk vf/kdkj ugha gSA ckcwyky }kjk ns; jkf’k dh x.kuk dhft, 

;fn mRiknu izFke o”kZ 1400 Vu rFkk f}rh; o”kZ 3000 Vu gksA 

Babulal took a mine on lease at a minimum rent of ` 4,000 
per annum. Royalty ` 2.00 per ton but no right to recoup 
shortworkings. Calculate amount payable by Babulal if 
production of first year 1400 tons and second year 3000 tons.  

9- 1 twu] 2020 dks v’kksd us fd’ku ls ckVk ‘kw dEiuh ds  150, 10% 

` 100 okys izfr _.ki= ` 135 izfr dh nj ls C;kt lfgr Hkko ij 

[kjhnsA bu _.ki=ksa ij 1 ekpZ ,oa 1 flrEcj dks C;kt ns; gSA nksuksa 

i{kksa us 1% nykyh O;ogkj ewY; ij nhA okLrfod Ø; ewY; Kkr 

dhft,A  

On 1st June, 2020 Ashok purchased from Kishan 150, 10% 
Debentures of ` 100 each at ` 135 each cum-interest of Bata 
Shoe company. Interest is payable on there debentures on 1st 
March and 1st September. Both parties paid brokerage @ 
1% on transaction value. Calculate Actual Purchase Price. 

10- izfrHkwfr;ksa ds C;kt jfgr Ø; dks le>kb,A 

Explain ex-interest purchases of securities. 

 [k.M&n  

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % bl [k.M ds lHkh iz’u vfuok;Z gSaA xf.krh; izd`fr ds iz’uksa dks 

NksM+dj izR;sd iz’u dk mŸkj yxHkx 150 ‘kCnksa esa nhft,A izR;sd 

iz’u ds 5 vad gSA 
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 All questions are compulsory of this Section. Except 
numerical nature of questions, each question is to be 
answered in about 150 words. Each question carries 
5 marks. 

1- fuEufyf[kr lwpukvksa ls 31 ekpZ] 2021 dks lekIr gksus okys o”kZ ds 

fy, ,Dl Qk;j bu’;ksjsUl dEiuh dk vkxe ys[kk rS;kj dhft, % 

 ` 

izkIr izhfe;e 15,00,000

Hkqxrku fd;s x;s iquchZek izhfe;e 1,00,000

Hkqxrku fd;s x;s nkos 7,00,000

izca/k lEcU/kh O;; 3,00,000

Hkqxrku fd;k x;k deh’ku 50,000

31 ekpZ] 2021 dks vnŸk nkos 1,00,000

vlekIr tksf[keksa ds fy, 40% dh nj ls lap; dhft,A 

From the following information, prepare Revenue Account 
of X Fire Insurance Co. for the year ending 31st March, 
2021 : 

    ` 

Premium received 15,00,000
Re-insurance premium paid  1,00,000
Claims paid 7,00,000
Expenses of management 3,00,000
Commission paid 50,000
Claim outstanding on 31st March, 2021 1,00,000
 Create reserve for unexpired risk @ 40%. 
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vFkok 

(Or) 

lkekU; chek dEiuh ds Form B-BL dk uewuk nhft,A 

Give a format of Form B-BL of general insurance company.  

2- 31 ekpZ] 2021 dks lekIr gksus okys o”kZ ds fy, vkj- ds- cSad fyfeVsM 

ds fjdkMZ ls fuEufyf[kr fooj.k fy;s x;s % 

 ` 

1 vizSy] 2020 dks Hkquk;s x;s foi=ksa ij vlekIr 

dVkSrh 65,040

Hkquk;s x;s ,oa Ø; fd;s x;s foi= 1,67,45,400

Hkquk;s x;s foi=ksa ij izkIr dVkSrh 5]02]362

31 ekpZ] 2021 dks Hkquk;s x;s foi=ksa ij vlekIr 

dVkSrh 92,760

lek;kstu gsrq vko’;d iath izfof”V;k¡ nhft, ,oa Hkquk;s x;s foi=ksa 

ij vlekIr dVkSrh ys[kk vkSj C;kt ,oa dVkSrh ys[kk cukb,A 

Following particulars were obtained from record of R. K. 
Bank Ltd. for the year ending 31st March, 2021 : 

 ` 

Rebate on bills discounted on 1st April, 2020  65,040

Bills discounted and purchased 1,67,45,400

Discount received on Bills discounted 5]02]362

Rebate on bills discounted on 31st March, 
2021 92,760

Pass the necessary journal entries for adjustment and prepare 
Rebate On Bills Discounted A/c and Interest and Discount 
A/c. 
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vFkok 

(Or) 
cSad ds fpës dk ,d uewuk dkYifud jkf’k;ksa ds lkFk ij nhft,A 

Give a specimen of Balance Sheet of Bank with imaginary 
figures. 

3- fuEufyf[kr fooj.kksa ds vk/kkj ij 31 ekpZ 2021 dks ¼v½ lkekU; ys[kk 

i)fr ds vuqlkj fLFkfr fooj.k rFkk ¼c½ f}&ys[kk i)fr ds vuqlkj 

iw¡th ys[kk ,oa fLFkfr fooj.k cukb, % 

 ` 

iw¡th 3,20,000 

ykHk&gkfu@vkxe ys[kk ¼ØsfMV½             ` 30,000 

fLFkj lEifŸk;k¡ 3,00,000  

?kVk;k % vo{k;.k 30,000 2,70,000 

LVkWd 30,000 

gLrLFk jksdM+ 10,000 

vf/kdks”k jksdM+ 40,000 

From the following particulars, prepare (a) A Balance-Sheet 
under General Account System and (b) A Capital Account 
and Balance Sheet under Double Account System as at 31st 
March, 2009 : 

 ` 
Capital 3,20,000
Profit and Loss Account (Cr.)                    ` 30,000
Fixed Assets 3,00,000
Less : Depreciation 30,000 2,70,000
Stock 30,000
Cash in hand 10,000
Cash at Bank 40,000
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vFkok 

(Or) 
lkekU; ys[kk i)fr ,oa f}&ys[kk i)fr esa D;k vUrj gS \ 

What are the differences between General Account System 
and Double Account System ? 

4- fuEufyf[kr lwpuk ls y?kqdk;Z [kkrk cukb, % 

o”kZ 
vf/kdkj ‘kqYd 

(`) 
U;wure fdjk;k 

(`) 
2017–18 8,000 20,000 
2018–19 12,000 21,000 
2019–20 26,000 22,000 
2020–21 30,000 22,000 

fdlh o”kZ esa mfnr y?kqdk;Z jkf’k dks dsoy vkxkeh nks o”kks± rd 

vf/k’ks”k ls olwy fd;k tk ldrk gSA 

From the following information, prepare Shortworking 
Account : 

Year 
Royalty 

(`) 
Minimum Rent 

(`) 
2017–18 8,000 20,000 
2018–19 12,000 21,000 
2019–20 26,000 22,000 
2020–21 30,000 22,000 

Shortworkings arising in any year can be recouped out of 
surplus during the following two years only. 

vFkok 

(Or) 
C;kt lfgr izfrHkwfr;ksa ds Ø; ij Øsrk dh iqLrd esa vko’;d iath 

izfof”V;k¡ fyf[k,A 

Write necessary journal entries in the books of purchaser for 
purchases of cum interest securities. 
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